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XCM524 cooo

m [ 0gon
@ XCM524xx 1ch(VDR £R) Ta=25[]
0 0 o 0O 0 0 MIN. TYP. MAX. oo oooo
VROOOQO 23 VRroutE) Irour=30mMA x0.98 | Vrourm | *1.02 \ O
V8 -2V lrounax Vini=Veourm+2.0V a0 | - - | ma | O
vROODOOOO VIN1=VROUT(T)+2-0V
(25~49vD) Iroumaax Veourr= 4.0V O 00 Vi=6.0V | 200 - - mA u
VROOOOO 0 Vrout 1mAD Igoutd 100mA - 15 50 mV O
. Vdif1 | =30mA E-1 \ 0
vROOOOOO ™ : RouT=>2m m
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VROOOOO 0 Veour! RouTm M - 0.01 020 | %/V O
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g VROUT(T)D 1.75v 0 IROUT=10mA
- oooo Vit 2.0 - 6.0 v -
O _
o| VvRooOODODOOOO 0 Vrour/ lrour=30mA - | 100 - lppmm| O
O (O ToprOVgsour) -400 O Toprd 850
Vini=[Vrourr+1.0]V+0.5Vp-pAC
VROUT(T)D 1.25v000
Vini=2.25V+0.5Vp-pAC
vROOOOOOO PSRR - 65 - dB 0
VROUT(T)D 475v0O000
Vin=5.75V+0.5Vp-pAC
IROUT=50mA, f=10kHz
VROOOD | Vini=V +2.0V 600 A O
(24v000) RLIMI IN1=VRouT(m)T<£. - - m
vROOOO Vini=Vrourm+2.0V
(25V oo ) IRL'M VROUT(T)= 4.0v 000 Vn=6.0V 500 600 B mA U
Vint=Vrourm+2.0V
vVROOOO IrsHORT Viour= 4.0V 0 0 0 Viy=6.0V - 50 - mA O
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O
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vDOOOOoOOoOoDOo -400 O Toprd 850 - +100 - ppm /0 O
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e 100OODOMO
E= E-0 E-1 E-1

o oo ooooao Oooooo 1(mv) DOooooo 2(mv)

SR ooooo (lour=30mA) (lour=100mA)

oooo V) Ta=250 Ta=250

VA Vroute /! Vore) Vdif1 Vdif1 Vdif2 Vdif2
Vorm MIN. MAX. TYP. MAX. TYP. MAX.
0.90 0.870 0.930 1050 1100 1150 1200
1.00 0.970 1.030 1000 1100 1050 1200
1.10 1.070 1.130 900 1000 950 1100
1.20 1.170 1.230 800 900 850 1000
1.30 1.270 1.330 700 800 750 900
1.40 1.370 1.430 600 700 650 800
1.50 1.470 1.530 500 600 550 700
1.60 1.568 1.632 400 500 500 600
1.70 1.666 1.734 300 400 400 500
1.80 1.764 1.836 200 300 300 400
1.90 1.862 1.938 120 150 280 380
2.00 1.960 2.040 80 120 240 350
2.10 2.058 2.142 80 120 240 330
2.20 2.156 2.244 80 120 240 330
2.30 2.254 2.346 80 120 240 310
2.40 2.352 2.448 80 120 240 310
2.50 2.450 2.550 70 100 220 290
2.60 2.548 2.652 70 100 220 290
2.70 2.646 2.754 70 100 220 290
2.80 2.744 2.856 70 100 220 270
2.90 2.842 2.958 70 100 220 270
3.00 2.940 3.060 60 90 200 270
3.10 3.038 3.162 60 90 200 250
3.20 3.136 3.264 60 90 200 250
3.30 3.234 3.366 60 90 200 250
3.40 3.332 3.468 60 90 200 250
3.50 3.430 3.570 60 90 200 250
3.60 3.528 3.672 60 90 200 250
3.70 3.626 3.774 60 90 200 250
3.80 3.724 3.876 60 90 200 250
3.90 3.822 3.978 60 90 200 250
4.00 3.920 4.080 60 80 180 230
4.10 4.018 4.182 60 80 180 230
4.20 4.116 4.284 60 80 180 230
4.30 4.214 4.386 60 80 180 230
4.40 4.312 4.488 60 80 180 230
4.50 4.410 4.590 60 80 180 230
4.60 4.508 4.692 60 80 180 230
4.70 4.606 4.794 60 80 180 230
4.80 4.704 4.896 60 80 180 230
4.90 4.802 4.998 60 80 180 230
5.00 4.900 5.100 50 70 160 210
5.10 4.998 5.202 50 70 160 210
5.20 5.096 5.304
5.30 5.194 5.406
5.40 5.292 5.508
5.50 5.390 5.610
TOIREX
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XCM524 cooo

m JO0dgdno
@ XCM524xA 2ch(DCDC a2 /\—4Ef) Vpcour=1.8V, fosc=1.2MHz, Ta=25°C
O O o od oooao noo oo |ooo
MIN. TYP. MAX.
gooo VDCOUT goooooag , V|N2=VEN2=5.0V,IOUT2=30mA 1.764 1.800 1.836 \Y 0
ooooog Ving 2.7 - 6.0 \% O
oooooo louTamax 2/D|N2;)VDCOUT(T)+2.0V,VEN2=1.OV gooooog 600 ) _ mA 0
VEN2=VIN2D VDCOUT=0V1LXD Oor’roooooooo
uvLo oo Vuvio 00@ 1) (O 10) 1.00 1.40 1.78 \% O
XCM524AA - 22 50
oooo Iop Vinz=Ven2=5.0V,Vocour= Vocourm*1.1V ( ) 8l A O
(XCM524BA) | - 15 33
ogoooooad ISTB V|N2=5.0V,VEN2=OV,VDCOUT= VDCOUT(T)X1-1V - 0 1.0 V] A 0
000oo foso 0000000 V= Vocourm*+2.0V,Ven=1.0, 1020 | 1200 | 1380 | kHz | O
IOUT1—100mA
0000000,Vine= Vocourm*2.0V,Venz=Vinz,
PFMOOOOOO lpem lour=1mA (0 11) 120 160 200 mA g
PFMOODODOOOO DTYLIMIT_PFM VEN2=V|N2=(C-1) IOUT2=1mA (D 11) 200 % 0
gooooooo DMAX VIN2=VEN2=5-OV;VDCOUT= VDCOUT(T)XO.QV 100 - - % 0
gooooooo DMIN VIN2=VEN2=5-OV,VDCOUT= VDCOUT(T)X1-1V - - 0 % 0
0o (D 2) EFFI O D_D 0000 Vena=VineDO VDCOUT(T)+1-2V(D 7), _ 92 _ % 0
IOUT2—100mA
LxSW"H"ONO DO 1 Ruixri Ving=Ven2=5.0V,Vocour=0V,ILx=100mA(0 3) - 0.35 0.55 Q o
LxSW"H"ONODO 2 RLXH2 V|N2=VEN2=3.6V,VDCOUT=OV,|Lx=1 OOmA(D 3) - 0.42 0.67 Q 0
LxSW"L"ONO O 1 Rixt1 Ving=Ven2=5.0V (O 4) - 0.45 0.66 Q O
LxSW"L"ONDO O 2 RLXLZ V|N2=VEN2=3.6V (D 4) - 0.52 0.77 Q 0
LxSW'H" OOOoOo (D 5) ILEAKH V|N2=VDCQUT=5.0V,VEN2=0V,Lx=0V - 0.01 1.0 V] A 0
LxSW'"L" Ooooo (D 5) ILEAKL V|N2=VDCOUT=5.0V,VEN2=0V,L><=5.0V - 0.01 1.0 V] A 0
gogo (D 9) Iim Vinz=Ven2=5.0V,Vpcour= VDCOUT(T)XO.QV 900 1050 1350 mA g
0 Vocout/ lout2=30mMA
R (Vocour™ Top) | -4007 [ Topr(] 8501 - | #1000 - e D
EN"H" 00O VENH VDCOUT=OV,VEN2D oood LxD H'OOOOO 0.65 _ 6.0 vV 0
o0 100
EN"L" OO VENL VDCOUT=OV‘VEN2 ooood LxD L"oogogo Vss _ 0.25 v O
00 100
EN"H" OO lenm Ving=Ven2=5.0V,Vocour=0V -01 - 0.1 HA o
EN"L" OO IENL V|N2=5.0V,VEN2=OV,VD(;0UT=0V -0.1 - 0.1 V] A 0
poooooooo tss goooooa VEN2=0V—>V|N2,IOUT1=1mA 0.5 1.0 2.5 ms 0
Ving=Ven2=5.0V, Vpcour=0.8% Vpcour(r)
VDCOUTD SWEEP O V|N2=VEN2=5.0V,D 01Q00 LxD oo
oo0oooooo VsHorT 1msO 00 Lx=L 00000 DOOUT 0 O 0.675 | 0.900 | 1.125 \Y O

BIESEME: BICEEESHE. V5.0V Vocourrr X EEBE

GE) EATVABMEBEREREET

G 2) EFFI{[(B ABE) x (H AT (A ABE) X (AHEF) % 100

(X 3) ON $EHI=(Vyp—Ly I FBIFE BE)/100mA

GE 4 EREHE

GE5) ESRFBICEVTIRKI0UARE)—ITE55ENHYET,

GE 6) BIEIREENDS DCOUT #EHL 1QE ML T GND [ZEREE, BRFIR/ ULRAFEEND =0V L5 ETD R

GE 7) {BL Vocourmyt1.2V<2.7V (& Vi,=2.7V £F 5,

GE8) AHNERZEBEER)MW/NEVNEE RRERICEZET HR1IC, 100%duty EEHEABHBYET,
100%duty IKEEASESZEREEICE Poh RSA/3D on EHRICEYH NDEEDBE TEREILET,

CEERFIREASNICRNIBEROE—IDEHLANILETRT,

GE10) "H ' =Vpo~Vie - 1.2V, "L"=+01V ~ - 0.1V

GE 1) Iopy B KU DTYumir_pem [ PFM HIHEIBF D A HEBET B7-8 . XCM524A 1) — X TIEBRSILET

XAth ch A%, BIfEFILRETOERMRFAETY .
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XCM524

gooano
m JO0dgdno
@ XCM524xB 2ch(DCDC v /\—%#R) Vbcout=1.8V, fosc=3.0MHz, Ta=25°C
O O o od oooao nod oo |ooo
MIN. TYP. MAX.

oooo VDCOUT goooooo, V|N2=VEN2=5.0V,IOUT2=30mA 1.764 1.800 1.836 \% g
oooooo Ving 2.7 - 6.0 \% O
Dooooo lourauax E/DINZ;)VDCOUT(T)Q'OV’VEM=1'OV SR 600 - - mA | O

VEN2=VIN2D VDCOUTzovaXD oo0r’Lroooooooo
uvLo oo Vuvio 00@ 1) (O 10) 1.00 1.40 1.78 \Y O
XCM524AB - 46 65
oooo Iop VIN2=VEN2=5-OV:VDCOUT=VDCOUT(T)X1-1V ¢ ) pA O
(XCcM524BB)| - 21 35
ogoooooad ISTB V|N2=5.0V,VEN2=OV,VDCOUT=VDCOUT(T)x1.1V - 0 1.0 V] A 0
000oo foso 0000000 Vi=Vocour*2.0V,Ven=1.0V, 2550 | 3000 | 3450 | kHz | O
IOUT2—100mA
0000000,Vne=Vocourm*2.0V,Vena=Vinz,
PFMOOOOOO lpem lour,=1mA (0 11) 170 220 270 mA g
PFMOODODOOOO DTYLIMIT_PFM VEN2=V|N2=(C-1) IOUT2=1mA (D 11) 200 300 % 0
gooooooo DMAX V|N2=VEN2=5.OV,VDCQUT=VDCOUT(T)XO.9V 100 - - % 0
gooooooo DMIN VIN2=VEN2=5-OV,VDCOUT=VDCOUT(T)X1-1V - - 0 % 0
000 2) EFFI 0000000 Vew=Viel Vocourmt1.2V(0 7). - 86 - % | O
IOUT2—100mA
IxSW"H"ONODO 1 RLXH1 V|N2=VEN2=5.OV,VDCOUT=OV,|Lx=1 OOmA(D 3) - 0.35 0.55 Q 0
LxSW"H"ONODO 2 RLXHZ V|N2=VEN2=3.6V,VDCOUT=OV,|Lx=1 OOmA(D 3) - 0.42 0.67 Q 0
LxSW"L"ONO O 1 Rixt1 Ving=Vent=5.0V (O 4) - 0.45 0.66 Q O
LxSW"L"ONDO O 2 RLXLZ V|N2=VEN1=3.6V (D 4) - 0.52 0.77 Q 0
LxSW'H" OOOoOo (D 5) ILEAKH V|N2=VDCQUT=5.0V,VEN2=0V,Lx=0V - 0.01 1.0 V] A 0
LxSW'"L" Ooooo (D 5) ILEAKL V|N2=VDCOUT=5.0V,VEN2=0V,L><=5.0V - 0.01 1.0 V] A 0
gogo (D 9) Iim VIN2=VEN2=5~OV‘VDCOUT=VDCOUT(T)X0-9V 900 1050 1350 mA g
0 Vocout/ lout2=30mMA
nooooooo (Vocour?Dtop) | -4007 [ Topr(] 8501 - | #1000 - e D
EN"H" 00O VENH VDCOUT=OV,VEN2D oood LxD H'OOOOO 0.65 _ 6.0 vV 0
o0 100
EN"L" OO VENL VDCOUT=OV‘VEN2 ooood LxD L"oogogo Vss _ 0.25 v O
00 100
EN"H" OO IENH VIN2=VEN2=5-OV,VDCOUT=0V -0.1 - 0.1 V] A 0
EN"L" OO IENL V|N2=5.0V,VEN2=OV,VDCQUT=0V -0.1 - 0.1 V] A 0
ogoooooooao tss goooooa VEN2=0V—>V|N2,IOUT2=1mA 0.5 0.9 2.5 ms 0
Vinz=Ven2=5.0V,Vpcour=0.8% Vpcour(m }
VDCOUTD SWEEPO V|N2=VEN2=5.0V,D 01Q00 L)(D oo
oo0oooooo VsHorT 1msO D00 Lx=L 0 0000 DCOUT 0 O 0.675 | 0.900 | 1.125 \Y O
;‘ﬂ“i%## 4%I:?Eiéﬂ§%i§ﬁs V]N2:5.0V VDCOUT(T):EQE%EE
GED EATVVAEIMEERIBEZ ST
(E 2) EFFIH[(H AEE) x (AT +(AABE) X (AAEF] x 100
GE 3) ON EH=(Vy, Ly # FRIE EE)/100mA
(G 4) B&5tHE
(X5 BERICBLVTERKXK10uABE)—ITH5E81HYET,
GE 6) BIfEIREEM D DCOUT #EH 1Q% LT GND ITJE#SE . EFFIR/ ULRREND L0V L4 5FTORRE
(;I 7 1EL/ VDCOUT(T)+1-2V<2-7V (=8 VIN2:27V &?’60
(X 8) AHNBEEGER)N/NESNGEE . RAXERICEET ST, 100%duty EHENHYET
100%duty SKENSESIZEREFIKE Pch F51/3D on ALY H NDBEEDBETEEILET
(X9 BRFBREIMNICSRNEERDOE—IDEHLNILETRT
GE10) "H =Vyp~Vpy - 1.2V, “L"=+01V ~ - 0.1V
(;I 11) ]PFM BJ:U DTYL|M|T_pFM 'j: PFM %“ﬁﬂﬂ?fo)ﬁ%ﬁgj—éf:&)~ XCM524A :/U_Z\‘_G(j:l}:%%bij_o
00 chOOODOODOODOOOODOODOO TOIREX

7/51



XCM524 cooo

m J0don

@XCM524xC 2ch(DCDC o/ \—%4Ef) Vocour=1.8V, fosc=1.2MHz, Ta=25°C

ooo
O O 0o Oo0G0OaG0o MIN. TYP. MAX. 00 |000
ooono VDCOUT goooooag ,V|N2=VEN2=5.0V,IOUT1=30mA 1.764 1.800 1.836 \Y
ooooogd Ving 27 - 6.0 \Y
goooDooo louramax E/DINZE)VDCOUT(T)-FZ.OV’VEM:1.OV HBHbabo 600 - - mA a
Venz=VineoVocour=0V, LxO0 0 07’00 000000
uvLo OO Vuvio 00@ 1) (0 10) 1.00 1.40 1.78 \% O
XCM524AC - 22 50
oooo lop Vinz=Ven2=5.0V,Vpcour=Vocourm* 1.1V ( ) uA O
(XCM524BC)| - 15 33
ogoooood ISTB V|N2=5.0V,VEN2=OV,VDCOUT=VDCQUT(T)x1.1V - 0 1.0 V] A 0
ooooo fosc 0000000, Vie=Vocourm*2.0V, Veno=1.0V, 1020 | 1200 | 1380 | kHz O
|0UT2—100mA
0000000,Vike=Vocourm*2.0V,Vena=Vinz,
PFMOOOO0OO lprm louro=1mA (0 1) 120 160 200 mA O
PEMOOOOOODO DTYLIMITﬁPFM VEN2=V|N2=(C-1)I0UT2=1mA(D 11) - 200 %
Ooooooooao DMAX VIN2=VEN2=5-OV1VDCOUT=VDCOUT(T)XO-9V 100 - - % 0
gooooooo DMIN V|N2=VEN2=5.OV,VDCQUT=VDCQUT(T)X1.1V - - 0 % 0
oo EFFI O D_D 0000 Venz=Vinz =Vocourm+1.2V(O 7), } 92 B % 0
|0UT2—100mA
LxSW"H"ON OO 1 Ruxi Vinz=Ven2=5.0V,Vpcour=0V,ILx=100mA(0O 3) - 0.35 0.55 Q o
LxSW"H"ONDO DO 2 Rixnz Ving=Ven2=3.6V,Vocour=0V,ILx=100mA(0 3) - 0.42 0.67 Q o
LxSW"L"ONDOO 1 RLXL1 V|N2=VEN2=5.0V (D 4) - 0.45 0.66 Q 0
LxSW"L"ONOO 2 Rixie Ving=Vena=3.6V (O 4) - 0.52 0.77 Q O
LxSW'H" OOOoOo (D 5) ILEAKH V|N1=VDCOUT=5.0V,VEN1=0V,LX=OV - 0.01 1.0 Y] A 0
gogoo (D 9) Ium V|N2=VEN2=5.OV,VDCQUT=VDCQUT(T)XO.9V 900 1050 1350 mA g
0 Vocout! lout2=30mMA
HOE0onnn ] wesntne | -400 O ToprD 850 S Dt B Lot
EN"H" 00O VENH VDCOUT=0V1VEN2D goooo L)(D H'OOOOO 0.65 _ 6.0 v 0
00 100
EN"L" OO VENL VDCOUT=OV;VEN2 gooooo LxD L"oogoogao Vss _ 0.25 v O
o0 100
EN"H" OO lenn Vinz=Ven2=5.0V,Vocour=0V -0.1 - 01 WA D
EN"L" OO IENL V|N2=5.0V,VEN2=OV,VDCOUT=OV -0.1 - 0.1 V] A 0
goooooood tss 0000000 Vena=0V-Vn2, lout2=1mA - 0.25 0.40 ms g
VIN2=VEN2=5-OVsVDCOUTzo-BXVDCOUT(T)
VDCOUTD SWEEPO V|N2=VEN2=5.0V,D 01Q00 LxD oo
gooooooo VsHort 1ms 000 L=""00 000 DCOUT O O 0.675 | 0.900 | 1.150 \Y g
cLOoOooo RDCHG V|N2=5.0V,L><=5.OV,VEN2=0V,VDCOUT=0pen 200 300 450 Q 0

BIEEY: HICHEEEEES. Vw50V Vocourn X EERE

GEN) EATVABMEBEREREET

G 2) EFFI{[(B ABE) x (B AT (A ABE) x (AHEF) % 100

(X 3) ON $EHI=(Vyp—Ly I FBIFE BIE)/100mA

GE 4 EREtHE

GE5) SRFBICEVTIRRKI0UARE)—ITEH5ENHYET,

GE 6) BIEIREENDS DCOUT #EHL 1QE ML T GND [ZEREE, BRFIR/ ULAFEEND L=0V L5 ETD R

GE 7) {BL Vocourmyt1.2V<2.7V (& Vi,=2.7V £F 5,

GE8) AHNERZEBEEER)MW/NEWNEE RRERICEZET HR1IZ, 100%duty EEHEARHBYET,
100%duty KEEASESZEREEICE Poh RSA4/3D on EHRICEYH NDEEDBE TEREILET,

CEERFIREAMNNICRNIEROE—IDEHLANILETRT,

GE10) "H ' =Vpo~Vie - 1.2V, "L"=+01V ~ - 0.1V

GE 1) Iopy B KU DTYumir_pem [ PFM HIHEIBF D A HEBET B7-8D . XCM524A 1) — X TIEBRSILET

OO0 chOOOOOODOOODODOODODODODO
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XCM524

gooano
m oggg
@XCM524xD 2ch(DCDC a2/ \—%4ER) Vocour=1.8V, foss=3.0MHz, Ta=25°C
O O 0o Oo0G0OaG0o oot 00 |000
MIN. TYP. MAX.
ooono VDCOUT goooooag ,V|N2=VEN2=5.0V,IOUT2=30mA 1.764 1.800 1.836 \Y
oooooo Ving 27 - 6.0 \Y
oooooo louramax E/DINZ;)VDCOUT(T)-FZ.OV’VEM:1.OV HooEoon 600 - - mA a
VEN2=VIN2DVDCOUT=0V, Lx ooo’rooooooog
uUvVLO O O Vo Do DO 10 1.00 | 140 | 1.78 Vv O
XCM524AD - 46 65
oooo lop Vinz=Ven2=5.0V,Vpcour=Vocourm* 1.1V ( ) A O
(XCM524BD) | - 21 35
ogoooood ISTB V|N2=5.0V,VEN2=OV,VDCOUT=VDCOUT(T)x1.1V - 0 1.0 V] A 0
ooooo fosc 0000000, Vie=Vocourm*2.0V, Veno=1.0V, 2550 | 3000 | 3450 | kHz O
|0UT2—100mA
ooooooo ,VlN2=VDCOUT(T)+2-OV,VEN2=V|N2,
PFMOOOO0OO lprm louro=1mA (0 1) 170 220 270 mA O
PEMOOOOOODO DTYLIMITﬁPFM VEN2=V|N2=(C-1)I0UT2=1mA(D 11) - 200 300 %
oooooooo Duax Ving=Ven2=5.0V,Vocour=Vocourr)*0.9V 100 - - % 0
gooooooo DMIN VIN2=VEN2=5-OV;VDCOUT=VDCOUT(T)X1-1V - - 0 % 0
0o EFFI O D_D 0000 Vena=VineD VDCOUT(T)+1-2V(D 7), B 86 _ % 0
|0UT2—100mA
LxSW"H"ONO O 1 RLXH1 VIN2=VEN2=5-OV,VDCOUT=OV,”—X=1 OOmA(D 3) - 0.35 0.55 Q 0
IxSW"H"ONODO 2 RLXHZ VIN2=VEN2=3-6V1VDCOUT=0V1ILX=1 OOmA(D 3) - 0.42 0.67 Q 0
LxSW"L"ONDOO 1 RLXL1 V|N2=VEN2=5.0V (D 4) - 0.45 0.66 Q 0
LxSW"L"ONOO 2 Rixie Ving=Vena=3.6V (O 4) - 0.52 0.77 Q O
LxSW'H" OOOoOo (D 5) ILeakH V|N2=VDCOUT=5.0V,VEN2=0V,Lx=0V - 0.01 1.0 Y] A 0
gogoo (D 9) Ium VIN2=VEN2=5-OV;VDCOUT=VDCOUT(T)X0-9V 900 1050 1350 mA g
0 Vocout! lout2=30mMA
noooooon (Vocour 00topr) | -4000 O Topr(d 8501 ) +100 ] ppm/C] D
EN"H" 00O VENH VDCOUT=0V1VEN2D goooo L)(D H'OOOOO 0.65 _ 6.0 v 0
00 100
EN"L" OO VENL VDCOUT=OV;VEN2 gooooo LxD L"oogoogao Vss _ 0.25 v O
o0 100
EN"H" OO IENH V|N2=VEN2=5.0V,VDCOUT=OV -0.1 - 0.1 V] A 0
EN"L" OO IENL V|N2=5.0V,VEN2=OV,VDCOUT=OV -0.1 - 0.1 V] A 0
ooooooooo tss 0000000 Vena=0V-Vn2, lout2=1mA - 0.32 0.50 ms g
Vine=Ven2=5.0V,Vpcour=0.8% VDCOUT(T) _
VDCOUTD SWEEP O V|N2=VEN2=5.0V,D 01Q00 Lx
gooooooo VsHort 0001ms 000 Lx="L"0 000 0 DCOUT O O 0.675 | 0.900 | 1.150 \Y g
cLOoOooo RDCHG V|N2=5.0V,L><=5.OV,VEN2=0V,VDCOUT=0pen 200 300 450 Q 0
;‘ﬂ“i%## 4%I:?Eiéﬂ§%i§ﬁs V]N2:5.0V VDCOUT(T):EQE%EE
GED ATV ABMEERBEZ ST
(Z 2) EFFIH[(H AEE) x (MW AEM]+(AABE) X (AAEF] * 100
GE 3) ON EHI=(Vy,Ly i FRIE EE)/100mA
(G 4) B&5tHE
(X5 BERICBLVTERKXK10uARE)—ITH5E81HYET,
GE 6) BIfEIREEM D DCOUT #EH 1Q% LT GND IThE#SE . EFFIR/ ULRBEND L0V L4 5FTORRE
(;I 7 1EL/ VDCOUT(T)+1-2V<2-7V (=8 VIN2:27V &?’60
(X 8) AHNBEEGER)N/NESNGES . RAXERICEET ST, 100%duty EHHENHYET
100%duty HKENSESIZEREFIKE Pch F54/3D on ALY H NDBEEDBETEEILET
(X9 BRFIREIMNICSRNEERDOE—IDEHLNILETRT
GE10) "H =Vyp~Vpy - 1.2V, “L"=+01V ~ - 0.1V
(;I 11) ]PFM BJ:U DTYL|M|T_pFM 'j: PFM %“ﬁﬂﬂ?fo)ﬁ%ﬁgj—éf:&)~ XCM524A :/U_Z\‘_G(j:l}:%%bij_o
Xfth ch A%, BEFILIKEETOESRRFHETY . TOIREX
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XCM524 cooo

m JQOgoOgd
e 00D00D0ODODODOODN IPFM
1.2MHz & (mA)
HEBE MIN TYP MAX
Vocourm=1.2V 140 180 240
1.2V<Vocourm=1.75V 130 170 220
1.8V =Vocourm 120 160 200
3.0MHz & (mA)
HREEE MIN TYP MAX
Vocourm=1.2V 190 260 350
1.2V <Vpcourm=1.75V 180 240 300
1.8V =Vpcourm 170 220 270

e PFMOOOOOCODOODOD VOO

fosc 1.2MHz O 3.0MHz O

(C-1 ) VDCOUT(T)+O-5V

Vocourm+1.0V

ooooooo2rvooo

000 Voeourm=1.2V, fosc=1.2MHz 0 O O (C-1)=1.7v0O 000000000 27vO0000000O0OO0O(C1)=27vO0O000O0O0O0O

e 000000000 ODODODODOOXCM524xC/ XCM524xD 0O 0 O

ooao
ooo fosc ooood
MIN. TYP. MAX.
1.2MHz | 0.8V0 Vpeourm<1.5V - 250u s 400p s
1.2MHz 1.5v0 VDCOUT(T)<1-8V - 320“ S 500“ S
XCM524AC
1.2MHz 1.8V0 Vpcourm<2.5V - 250p s 400p s
1.2MHz 2.5V0 Vpcourm U 4.0V - 320p s 500p s
1.2MHz 0.8v0O V, <2.5V - 250u s 400p s
XCM524BC DCOUT(T) H H
1.2MHz 2.5v0 VDCOUT(T)D 4.0V - 320” S 500” S
3.0MHz 0.8vO VDCOUT(T)<1-8V - 250“ S 400“ S
XCM524xD
3.0MHz 1.8V0 VpcourmU 4.0V - 320p s 500p s
m Jdong
Roulow $ DC/DC O fosc=3.0MHZ
pull-up &
VDOUT 1 VROUT Cini 1y F (Ceramic)
o ' Jvoout  vrout [12[—¢- ° )
Cr1 14 F (Ceramic)
CL1
7J7T 2]vss NC [ ;; L 1.5 H (NR3015 TAIIYO YUDEN)
<7 e vt [ Cinz 47y F (Ceramic)
CIN{ === .
" Cr2 10p F  (Ceramic)
vin C'“ET_ 4 | VIN2 EN2 E_Eﬁz
J; I DC/DC O fosc =1.2MHz
PGND AGND | 8
;7 Cint 1u F (Ceramic)
E Lx DCOUT | 7 Cr1 1u F (Ceramic)
—| L 4.7y H (NR4018 TAIIYO YUDEN)
YN 4 vbeoul Cinz 4.7y F  (Ceramic)
L
oL CL2 10y F (Ceramic)
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XCM524
oooo

m 000

<0goooboobobooos>
XCM524 00 D000 0O0OOO00ODOOO0DOCOOOVreuyrOOOOODODDODOD MO R2O000000D0CO0OOODOOOO
OO0O0OCOOOQoOOoOOoODOODOODOODOODOOOO VeourOOOOOOOO PechMOS ODOOOOOOOODOO Vrour

gboobooooooooboooboboboboooooooobDoboboboboboboboboboobobDoDOoD
gooooo

<bgoobobooboo>

XCM524 0000000000000 OVerour OO0 OVWOOOOOOOO R3O R4OOODOOOODOOOOODODOOO
goooooooooooooooboooboovb oooobOoOoOoOoooOoOoOooOoOOoOoDOoOOoOooDoOOoOooDoOoOoDOo
goooooobooooboobooobOVreurU OO OO HOOO LOODOOODVDOODODOOOODOOOODO
OO00D0O0OOVpourOOOON-chODOOOODOOOOODDOOODOO2200Q00000000000000O00OO

gooooooooooobooooooooooovbooooOoOoDOOoOoooOoOoOooDOoOoOobD 1050 ODObooogoo
VoourOOOOOOOOOOOO

XCM5240 0000 Cdelay0 OO OODOOODCAdOOOOODOOODODOODDOODOO VpourOOOOODOOOO
OO00OO0OCOOC0OO0OC0OO0OO0OU0OCOU0OO0OOOOOOOOO Rdelayos00kQTYPOODODOO CdOOOOOOOOO
gdCd0dO00O0oOoOoooO00oDOO0o0bOoOoOoooOoOooDooOoo

goobobooooooooboboo

Delay Time = Cdelay x Rdelay x 0.7 ...(1)

ooooo Rdelay O O : 300 ~ 700kQ TYP : 500kQ

Cdelay DELAY TIME (TYP.) DELAY TIME (MIN.~MAX.)
0.01p F 3.5ms 21~49ms
0.022p F 7.7ms 4.62~10.8 ms
0.047p F 16.5 ms 9.87 ~23.0 ms

0.1y F 35 ms 21.0~49.0 ms

0.22p F 77ms 46.2 ~108.0 ms
0.47p F 165 ms 98.7 ~ 230.0 ms

1y F 350 ms 210.0 ~490.0 ms

oooooooooMmoooooooooooooo
01 0000000CdO0OO0OOOO0O0O0O00O0O00000000

<O ESROOOCOOOO>

XCMs24 OO OO UOOOOOOOOO0O ESROODOOONOONOOOOOOOOOOOOOOOOOOoOooiIicoononog
0000000000000 000D0OOC00D0O0O0000O000DO00OooOOoC,HO00 VrourOODO VesOODOOODODO
goooooooooooooocyWooooMFOOOOODOOOOOODOODOOOOOOUOOUOOUOOOO VINMIODO
OVssOOOOOOOOODOODODOOCwOMFOOOODOODODOO

oooooooooo

Vrout 0.9 ~1.2v 1.3~1.7V 1.8~5.1V

Cri 47¢FODO 22¢4FO0O 1.0uFOO

<0gooobooobooos

xXcmMs24O0OoOoooooOoooooooooOooooOooooooooDoDooooboooooooooDbboooooooo
gboboooobooboooboboboboboboooooooboooobobobobobooooobobOoboOoban
gboboooboooooobooobobobobooooooooooooooobobobobobboooobLDOobOoDbOoDbOoo
oO00oDoooooosomACOODOOOODODOO

TOIREX
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XCM524 cooo

m Jgg

obcbc OO

XCM524 0000 DC/OCOUOODDOOODOOOOODOOOODOOOOOOOODODPWMODOOOODODOOODODOOO
O00pooOoOooOPch MOSODOOO TrOODOOODO Nch MOSODOOO TrODOOODOOOUWLOODO OODOOOO
o00ooO@oooooooog)

goooooobcouTOODOOD RI,RROODDOOCOODOOO0OOOOOODOOO0ODOOOOOODODOOODOOODOOOOn
goooooooPwMODOOOODOOOODOONODOODOOODOOOOPWMOOOODOODDOOODOOOOOPWM
gootbooboooooobooobobobobooooooboobooboboboboobooobDobobobobobooboOoo
000000000 OO0OOoOoOo0oooO00obOOoOo0OooOo0oooOO0oOoOoDoO0obDooOoooOoOoooDoOooo
gpooooo

J000DooO000OOo0o0ooOo00ooo0ooO0oDooOogO pehMOSOOOO TrODODDOOOODODOOODDOOODOOD
oo0oo00ooOOo00oOoOooO00oDO00OoO0o0O0oDOO00DO00bOODOO0O0ODOO0O0DDOOOOODOOO ESROODO
gboboboooboooobobobobobooooobooboobDobobobo

oooboooo
gicooco0oobo0ooooOoooooOooboooboooooog

oboobooo
gooooooooO00oooO00ooDOo0o0OooOOoO00oDoOboO000oDOoOO00ooOOO00oOooOoO0DO0O1.2MHZ3.0MHzODODOOODO
goooooOoooOooooooPWMOOOOOOOOODOOODOOOOOODOOODOOODOOOODOOOO

ooobooooo
j0oo0o0ooo0o00Do00DOo0o00ooO0d00ROR2000000000000DOOO0OOODODOOODOOOO

gboboobooooooboooboboboboooooobooboobobobobooboooobDobobobobobooboOoo

gbobooboooboobobobooooooooobooboboo

gpooooo
XCM5240 000 DCOCOOOODODODOOODWLODOOOOODODO PchMOSODODOO TrhrOOOOODOOOODOOOO
obobooooboobobobooooo

0 0O0O0O000OOO000OOOo00DOO00DOO000O000 WxOOoOoOoOoDbDoOoobDooooooOooooooo
gooo

0 obobooooooboobobobOobobooooooobDOobOoboboboobobooboobDOoDbo

0 000000000000 PchMOSODOOO TrhOOOOODOOODOOOOODODOOODDOOO PchMOSOOO
OTrO0DOCOODOO

0 obobooobooboobobobobooooog

0000o000ooO0o00DoO00DOo0o00ooO0o00oDoO00DO msODO ODOOOOOODODOOODOOOODOOOOO Pch

MOSOOOO ThOOOODODOOODOOOOOODOO0ODOOOODOOOODDOOODOOOOODODOOOEN2O0DOOOOO

IC 000000000 0oDoOdvV 000000000000 OO00DOO00DbOODOD0O0ODODDOO0ODOOO0OODOOO0OD

0000000000000 0C00D00O000D0OO0000O0000O000DODO0O0OXCM524 000000 TYP:1050mA

gooooooon

goooboboboobooooooobooobooboboobooboooobobobobobobobooooDobDobDobOob OO

gooobooboooooooobooboboboooooooooDobobobobooboooDobobobobobboooo

Limit<#ms Limit>$tms

Current Limit LEVEL

ILx

DCOUT

Lx

VEN2
Restart

VIN2

L
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Ve OOOQOO 14V 000000000000 0ODOOO0ODOOO0OODOOO0ODODOOOOPch MOSOODOO Trh.OOOO
OO0O0OCoOoOoOoOooOoboveOOOOoOoO18vOoOoOoooooooooooooooooguvLlooooooooooooo
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OPFMOOOOOOO

PFMOOOO0OOOOCODOODOODODOOOOOO(em)DOCOCOO PchMOSOOOO ThO0OOOODOODOOOOO Pch
MOSOOOO TrODOODOO(on)DODOODODOODOODOO

ton = LxXlpem/(Vin2-Vbcout) O lpemO

OPFMOOOOOODO

PFMOOOO DUTY OODTYumt pemd O TYP=200%O OO0 O0O0O0O0O0O0O0O0O0O0OO0OOOOOOOOOOO DUTYOOO
00000 lpemO0 000000 PchMOSOOODO TrhfOOOODODODOOOOOOOO lpewO
tON /PFM7"1—7“4%'JBE\
i >l < . >
<>,
Lx — Lx —2 fosc
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---T-- - E» a» E» Eh 6b Eb a» =» & . & - —: - - e e
I Torm I . ’ Iopu
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XCM524 0000000000000 LxOO-VesOOODODODOODODO NchMOSOOOO Trh.OODO EN2O0O LODDODODOO
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V=V|3c;ou'|'('|')><e_t/T OO0 to00o0o0o00000 t=t Ln(VocourmV)
V: DDDDDDDD,VDCOUT(T)I gooo,tooon

T :CxR

C=000O0oopooocCcLbooon R=COOOOOOOO

Output Voltage Dischage Characteristics
Rdischg = 300Q (TYP)

100 [ [ 1
- 90 Iy CL=10uF |+
S o I\ -
23 80 |~ CL=20uF |
> ®© I A
0 > 70 [ty CL=50uF ||
=20 {
= o \ \
© © 60 ¥
= = \
5 8 K
xrs 50 \'.\ 3
o0
%.5 40 HB
23 % \\ \
°w 1
2 RS
5 o 20 ~
2= 10 \ ! -
N\,
© \Nt\\ s
0 P T SR | P e s r—

0 10 20 30 40 50 60 70 80 90 100

Discharge Time t (ms)

_|EpEREEN

el 0[O

DCOCOUOOOOOOOOO VpcourOO VROOOOO VOOOOOOOOOOOOOODOOOOOOoOoOoooooo

1. VROOOOO CuUOUOOUOOOOOOOOOOOOOVROODODOOOOOOoOooooooooobecbcooooog

gooDiIcoooooOobooooooocCcooooooobebcooodn CObOoOooDboOoOoooDooDo
ooobooooo

Fil Control Selp Meosrn  Analyre Utk Hely 118 AN

OVROODODOO(WwOOOODCDCOOOO0O0OO0OOOOO

DCOUT(1V/div)
" IC00000000000000

L
E

000000 CL10u F,C10p RO OO 1.0p DO DODOO

3

i EEEE

g

50us/div
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gbobooooooboboboboooboooooboobooboboboboooboooboobobobobooobooobooon
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Circuit No.1 Circuit No.2

VIN1 VIN1 VROUT

@ — Cd @ — Cd vVDOUT

CIN=1 ¢ F VSS CL=xk y F CIN=1 4 F VSS
VIN (ceramic) (ceramic) VIN (ceramic)
________________ ,

VIN2 ! VIN2 ! Lx
] 1
EN2 | DcouT EN2 | Dcour
! !
AGND H PGND AGND H PGND
1 1
Circuit No.3
VIN1
VIN — ¢4
IROUT=50mA
VSS CL=xk y F
(ceramic)
VIN2 ' Lx VROUT(T)=0.9V
1 VIN=(2.0V}VDC+0.5Vp-pAC
EN2 | DcouT
H 1.OVEVROUT(M =47V
! VIN=[VROUT(T)+1.0VVDC+0.5Vp-pAC
AGND ' PGND
f VROUT(T)= 4.8V
7J7' VIN=[5.75V}VDC+0.5Vp-pAC
Circuit No.4 Circuit No.5
VINT VROUT |— » VINT VROUT
VIN Z — Cd VDOUT VIN ﬂ — Cd VDOUT
_- p— _-
7 CIN=14F l— VSS 7 CIN=1 4 F l— VSs
(ceramic) (ceramic)
—eo—-—------ o-——---— *—eo------- o-------1
VIN2 ! Lx VIN2 ! Lx
1 1
EN2 | DcouT EN2 | DcouT
| |
1 1
AGND H PGND AGND H PGND
H H
Circuit No.6
» VIN1 VROUT |—
VN cd VDOUT |—
z J—
7 CIN=1 uF @ VSS
(ceramic) r
A \ 4 T -——------ 1
VIN2 ! Lx
1
EN2 | DcouT
1
|
AGND H PGND
H
Ooo0ooooooon
Vrout 0.9~1.2v 1.3~1.7V 1.8V ~5.1V
@) 47p0 FOO 22uFO0 104 FOO
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Circuit No.7 Circuit No.8
VIN1 VROUT VIN1 VROUT
Cd VDOUT Cd VDOUT
VSS VSS

Wave Form Measure Point

@ VIN2 Lx L @ VIN2 Lx |—

EN2 DCouT EN2 DCouT
CIN I _IZ_ 1uF _IZ_
7 oL

AGND PGND L g AGND PGND

Py Py

X External Components

L : 1.5 H(NR3015) 3.0MHz, 4.7 u HINR4018) 1.2MHz
CIN : 4.7 u F(ceramic), CL : 10 i F(ceramic)

Circuit No.9 Circuit No.10
VIN1 VROUT VIN1 VROUT
cd VDOUT cd VDOUT
VSS VSS
Wave Form Measure Point
VIN2 Lx VIN2 Lx

EN2 DCouT

EN2 DCOUT Rpulldown
1uF | _@_ 200Q 1uF _@_

AGND PGND g AGND PGND

7J7. 7;. ON resistance = (VIN-VLx)/100mA

Circuit No.11 Circuit No.12
VIN1 VROUT VIN1 VROUT
Cd VDOUT Cd VDOUT
VSS VSS
Wave Form Measure Point
Lx VIN2 Lx
DCOUT EN2 DCOUT |
WT 7'? i ILM
PGND L g AGND PGND
Circuit No.13 Circuit No.14
VIN1 VROUT VIN1 VROUT
Cd VDOUT Cd VDOUT
VSS VSS
ILx
Wave Form Measure Point < ,,,,,
VIN2 Lx [@=——O VIN2 Lx @

| Tat

EN2 DCOUT |—

EN2 DCOUT v
TuF —IZ_ Zﬂ Rpulldown
7 19

g AGND PGND ® AGND PGND

1
<
ia

Circuit No.15
VIN1 VROUT
cd VDOUT
VSS

@ VIN2 Lx
EN2 DCouT
CIN _IZ_

L g AGND PGND
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25

2.0

0.5

Output Voltage: Vrour (V)

0.0

3.0

25

2.0

1.5

1.0

Output Voltage: Vrour (V)

0.5

0.0

4.0

3.5

3.0

25

2.0

1.5

1.0

Output Voltage: Vrour (V)

0.5

0.0

20/51

VROUT=1 .8V

V|N1=3.8V
Cin1=1.0p F(ceramic), C.1=1.0p F(ceramic)
—— Topr= 2% |
-—-F- Topr=-40p I‘ .
T 77 Topr= 830 A1
0 100 200 300 400 500 600 700
Output Current: Irout (MA)
VROUT=2.5V
Vini=4.5V
Cin1=1.0p F(ceramic), C.4=1.0p F(ceramic)
7.
| '!
—— Tor= 2 ! .
---1- Topr=- 400 ,I// ;
— I Topr=_ 85 22
///r’/
>
/
0 100 200 300 400 500 600 700
Output Current: Irout (MA)
VRQUT=3.0V
Vin=5.0V
Cin1=1.0p F(ceramic), C.4=1.0p F(ceramic)
=T T 1]
—1— Topr= 290 [
-—-F- Topr=-4Q0O P
— ]~ Topr=_840 z
P
2 “-
%
A
0 100 200 300 400 500 600 700

Output Current: Irout (MA)

25

2.0

0.5

Output Voltage: Vrour (V)
P

0.0

3.0

25

2.0

0.5

Output Voltage: Vrour (V)

0.0

4.0

35

3.0

25

2.0

1.5

1.0

Output Voltage: Vrour (V)

0.5

0.0

VROUT=1 .8V

Cini=1.0p F(ceramic), C1=1.0u F(ceramic)

] VIN= 3.8V

----|VIN=2.1V

L1 ~— " VIN= .0V

0

100 200 300 400 500 600 700
Output Current: Igout (MA)

VROUT=2 5V

Cini=1.0p F(ceramic), C4=1.0p F(ceramic)

N
—— VIN=4.5V “‘\ o //
-l yIN=28Vy =3

T VIN=eOv )/

r -

100 200 300 400 500 600 700
Output Current: Igout (MA)

VRQUT=3.0V

Cini=1.0p F(ceramic), C.4=1.0p F(ceramic)

T

-

—T— VIN=5.0V

-=-1- VIN=6.0V

0 100 200 300 400 500 600 700

Output Current: Igout (MA)




XCM524
oooo

m ][]0
O10VROODOOOVROODOOOOO

Output Voltage: Vrour (V)

Vrout=5.0V

Vini=6.0V

Cint=1.0p F(ceramic), C 4=1.0p F(ceramic

6.0
5.0 e —17-
—1 Topri 25(] ,I,"
4.0 ----1 Toprf-40( J
~ 77 ToprF 85[ //,,r'
3.0 -
///’
2.0 = —
/( h
1.0 i
0.0 W
0 100 200 300 400 500 600 700
Output Current: Irout (MA)
VROUT=0-9V
Vini=2.9V
15 Cin1=1.0p F(ceramic), C_1=4.7y F(ceramic
—— |Topr=| 250
12 -f-——- |Topr=|- 400
> T~ 7 "|Topr=| 850
5
£ 09
> = 7 |
g ;
8 // -
9 0.6 //( -
écz P -
S 03 <
(@) / -
zz
0.0 e
0 100 200 300 400 500 600 700

Output Current: Irout (MA)

6.0

VROUT=5.0V

Cini=1.0y F(ceramic), C.4=1.0p F(ceramic

5.0

4.0

3.0

2.0

1.0

Output Voltage: Vrour (V)

—— VIN=6.0 /

0.0

0

- N
N (&)}

o
©

Output Voltage: Vrour (V)
o o
w (o))

o
o

-

100 200 300 400 500 600 700
Output Current: Irout (MA)

VROUT=0.9V

Cini=1.0y F(ceramic), C.1=4.7u F(ceramic

/ —1— VIN=20

Az -——F- VIN=29

// ~—~" VIN=6.0

0 100 200 300 400 500 600 700

Output Current: Iroyr (MA)
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Output Voltage: Vrour (V)
o =)
~ [(e]

0.5
0.5 1.0 1.5 2.0 25
Input Voltage: VN1 (V)
VROUT=1.8V
Ta=250
20 Cint1=1.0p F(ceramic), C.4=1.0p F(ceramic)
1.8
S
5
2 16
>
S IOUT=0npA
S 14 41
S 3o£
E_ 12 / 100mA
>
s I/
1.0 /
1.3 1.8 2.3
Input Voltage: Ving (V)
VROUT=2.5V
Ta=250
27 Cint1=1.0p F(ceramic), C 1=1.0p F(ceramic)
25
S
5
2 23
>
S IOUTFOmMA
8 21 t
o
> OmA
a3 100mA
Q.
5 19
(@)
1.7
2.0 2.5 3.0
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VRQUT=0.9V
Ta=250
Cin1=1.0p F(ceramic), C.1=4.7y F(ceramic)

O T=UmA
1mA.

30mA

100mA

/[ ST
/]| 7

[ [ 1 ]

///’I

Input Voltage: Vin1 (V)

VROUT=0.9V
Ta=250
1.00 Cin1=1.0p F(ceramic), C_1=4.7y F(ceramic)
=S
5
el IOUT=pmA
> 0.80 mA
% 3pmA
§ TOUMA
5
Q.
5
(@)
0.60
2.0 30, .40 . .. 50 6.0
Input Voltage: Vin1 (V)
VROUT=1.8V
Ta=250
1.90 Ciny=1.0u F(ceramic), C_1=1.0p F(ceramic)
- 1.85
S
5 1.80
[e]
['4
>
)
E 1.75 TOUT=UI
S 1rhA
>
5 30mA
g 1o TOOTA
>
(@)
1.65
3.0 3.5 4.0 4.5 5.0 5.5 6.0
Input Voltage: Vin1 (V)
VROUT=2.5V
Ta=250
260 Cint=1.0p F(ceramic), C_1=1.0p F(ceramic)
S 2.55
5
(e}
o
>
o 2.50
(o))
8
S OUT=0m|
5 245 TmA
£ 30mA
o 100mA
2.40
3.0 3.5 4.0 4.5 5.0 5.5 6.0

Input Voltage: Vin1 (V)
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Vrout=3.0V Vrout=3.0V
Ta=250 Ta=250
3.2 Cii=1.0u F(ceramic), C\,=1.0u F(ceramic) 310 Cini=1.0p F(ceramic), C4=1.0u F(ceramic)
< 3.0 3.05
< S
3 =
= 28 g 3.00
'ai OLIT=0mA >
o 1mA 14}
S 26 o) IOYT=0mA
g BomA g 29 TR
S PYuU g OUMA
% 24 é 290 100mA
@] =]
(@]
22 2.85
25 3.0 35 40 45 5.0 55 6.0
Input Voltage: Ving (V) Input Voltage: Vint (V)
VRrout=5.0V Vrout=5.0V
Ta=250 Ta=250
592 Cini=1.0p F(ceramic), C.4=1.0u F(ceramic) 5.10 Cwi=1.04 F(ceramic), C.s=1.0p F(ceramic)
5.0 5.05
S =
5 =
° 4.8 3 5.00
> IDUTFOM4 >°‘
g Tm4 @ =
8 46 O 8 4.95 IOUT=0rA
S 100 S 1A
3 5 30nA
g 44 % 4.90 TOOTTIA
o]
o
4.2 4.85
4.5 5.0 55 52 53 54 55 56 57 58 59 60
Input Voltage: Vi1 (V) Input Voltage: Ving (V)
TOIREX
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dropout voltage: Vdif (V)

VRQUT=0.9V
Cint1=1.0p F(ceramic), C 4=4.7u F(ceramic)
ppr= 850
250
- 400
50 100 150 200

Output Current: Iroyr (MA)

VROUT=2 .5V

Cin1=1.0p F(ceramic), C.1=1.0p F(ceramic)

Topr= 850
250
=400

/

dropout voltage: Vdif (V)

/

50 100 150 200

Output Current: Igour (MA)

VROUT=5.0V

Cin1=1.0p F(ceramic), C.4=1.0p F(ceramic)

Topr= 850
250
=400

dropout voltage: Vdif (V)

-

//

50 100 150 200
Output Current: Igour (MA)

dropout voltage: Vdif (V)

VROUT=1.8V
Cin1=1.0p F(ceramic), C.1=1.0p F(ceramic)
Tgpr= 850
250
-400
50 100 150 200

Output Current: Igour (MA)

VROUT=3.0V

Cint=1.0u F(ceramic), C_1=1.0p F(ceramic)

[
®

Topr= 850
250
- 400

dropout voltage: Vdif (V)

o
(N

e

/

50 100 150 200
Output Current: Igour (MA)
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VRrout=0.9V Vrout=1.8V
120 Cin1=1.0p F(ceramic), C 1=4.7p F(ceramic) 120 Cint1=1.0p F(ceramic), C.4=1.0p F(ceramic)
100 100
< =] < "
3 80 // 3 80 . /%
s /M . /
5 60 g 60
S // Topr= |850) = // Topry 850
40 o 250
_Z 250 > 40 40
£ ] {s00 ] )/ -400
» 20 (/:; 20
0 0 /

0.0 1.0 2.0 3.0 4.0 5.0 6.0

0.0 1.0 2.0 3.0 4.0 5.0 6.0
Input Voltage: Vin1 (V)

Input Voltage: Vin1 (V)

Vrout=2.5V Vrout=3.0V

120 Cin1=1.0p F(ceramic), C.4=1.0p F(ceramic) 120 Cin1=1.0p F(ceramic), Ci41=1.0p F(ceramic)

00 100
—_ | — I
<5 L=/’7 < T |
o 80 2 80 V.
= / a
i L
S i
2 60 / £ 60
=1 =
S // Topr= 8500 3 / Topr= | 850
S 40 250 > 40 2517
S =
3 /) o 5 / o0

20 [%2] 20

0 0 /

0.0 1.0 2.0 3.0 4.0 5.0 6.0 0.0 1.0 2.0 3.0 4.0 5.0 6.0
Input Voltage: Vi1 (V) Input Voltage: Vin1 (V)
VRQUT=5.0V
120 Cin1=1.0p F(ceramic), C.4=1.0p F(ceramic)
100 |
. P
g /L‘/
= 80 =
8 L~
5 &0 ]
3 / Topr= (850
S>, 40 25
a8 / -{400
>
w20

LA

0.0 1.0 2.0 3.0 4.0 5.0 6.0
Input Voltage: Vi1 (V)
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VRQUT=0.9V
Vini=2.0V
110 Cint=1.0p F(ceramic), C_1=4.7p F(ceramic)
__1.00
2
5
>2 0.90
s
&
5 080 TOUT=01A
2 =30rA
% 0.70 =100mnA
(e}
0.60
-50 -25 0 25 50 75 100
Ambient Temperature: Ta (°C)
VRQUT=2.5V
Vini=3.5V
Cint=1.0u F(ceramic), C_1=1.0p F(ceramic)
2.70
2.65
. IOUT=0rmA
> 2.60 =30~
5 =100rpA
3 255 d
>
g 250
8 =
S 245
=]
£ 240
3
(e}
2.35
2.30
-50 -25 0 25 50 75 100
Ambient Temperature: Ta (°C)
VRQUT=5.0V
Vini=6.0V
Cint=1.0p F(ceramic), C_1=1.0p F(ceramic)
5.20 - -
5.15
— IOUT=0mA
S 510 O
=
2 =
€ 5.05 100mA
>
% 5.00
S B e =
z 4.95 —
3
= 4.90
o
4.85
4.80
-50 -25 0 25 50 75 100

Ambient Temperature: Ta (°C)

VRQUT=1.8V
Vini=2.8V
Cint=1.0u F(ceramic), C_1=1.0p F(ceramic)
2.00
1.95
S 190
5
2 1.85
>
o 1.80
(o))
3 _
g 1.75
3 1.70 OUT=0mA
5 =30mA
O 165 =1007A
1.60
-50 -25 0 25 50 75 100
Ambient Temperature: Ta (°C)
VROUT=3-0V
V|N1=4.0V
Cini=1.0p F(ceramic), C.4=1.0p F(ceramic)
3.20
3.15
< 310 IPUT=0mA
et =30mA
3 3.05 =400mA
>
g 3.00
% 2.95
S 2
3 2.90
=
© 285
2.80

-50 -25 0 25 50 75 100

Ambient Temperature: Ta (°C)
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VRQUT=0.9V VROUT=1 .8V
Ving=2.0V Vini=2.8V
100 110
90
z <
Z 80 2 90
[a] [=]
= ) [ 8
é 70 — *g =
a3 5
2 60 S 70
=z =
Q o
7 g
n 50 a
40 50
-50 -25 0 25 50 75 100 -50 -25 0 25 50 75 100
Ambient Temperature: Ta (°C) Ambient Temperature: Ta (°C)
VROUT=2.5V VROUT=3-0V
Vini=3.5V Vini=4.0V
110 ™ 110
< -
2 <
o 90 =2 90
e [ e e e z | = T
< -
e H
3 o
>
_% 70 > 70
Q.
3 H
-50 -25 0 25 50 75 100 50 25 0 25 50 75 100
Ambient Temperature: Ta (*C) Ambient Temperature: Ta (°C)
VRQUT=5.0V
Vini=6.0V
110
< i E—
3 =1 =
2 90
2
o
5
(@]
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Detect Voltage, Release Voltage: Vpr,Vor (V)
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Output Current: Ipoyr (MA)

Output Current: Ipoyr (MA)
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Input Voltage: Ving (V)
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